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Important Instructions for the Candidates :

1. This_Question Paper contains two sections i.e. Section A and
Section B (B1 and B2). ] ) )
Section A has 15 (westlons covering both i.e. Mathematics
and Applied Mathematics which “is compulsory for all
candidates. )

Section Bl has 35 questions (Q. No. 16 to 50) from
Mathematics out of which 25 questions need to be attempted.
Section B2 has 35 _questlons(z . No. 51 to 85) purely from
Applied Mathematics out of which 25 questions need to be
attempted. ) .

If a candidate answers more than 25 questions from Section
B1/B2, the first 25 answered questions will be considered for
evaluation.

2. When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.

3. Use only Blue/Black Ball Point Pen for marking responses.
Kindly select Mathematics (Q. No. 16 to 50) OR Applied
Mathematics (Q. No. 51 to 85) very carefully for marking
responses on the OMR Answer Sheet.

4. The CODE for this Test Booklet is B. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for reﬁlacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

5. Before attempting the question paper kindly check that this
Test Booklet has total 48 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

6. Each question has four options. Out of these four options
choose the MOST APPROPRIATE OPTION and
darken/blacken the corresponding circle on the OMR Answer
Sheet with a Blue/Black Ball Point Pen.

7. Five (5) marks will be given for each correct answer. One (1)
mark will be deducted for each incorrect answer. If more than
one circle is found darkened/blackened for a question, then it
will be considered as an incorrect answer. Unanswered
questions will be given no mark. PTO.
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319 EAS/B (2)

Section A (Compulsory)
1.  If A and B are symmetric matrices of the same order, then AB —BA isa:
(1) symmetric matrix (2) zero matrix
(3) skew symmetric matrix (4) identity matrix

2.  If A is a square matrix of order 4 and |A|= 4, then |2A| will be :
(1) 8 (2) 64 3) 16 4 4

3. If[Aly,g [Blyy = [Cls then

(1) x=1y=3 (2) x=2,y=1 (3) x=3,y=3 4 x=3,y=1
4. Ifafunction f(x)= x2+bx+1 is increasing in the interval [1, 2], then the least value of b is :
1 s 2) 0 (3) -2 4 —4
5.  Two dice are thrown simultaneously. If X denotes the number of fours, then the expectation of X will be :
(1 d () 1 3) : “4) °
9 3 7 8

6.  For the function f(x) = 2x3 — 9x% + 12x — 5, x € [0, 3], match List-I with List-II :

List-1 List-11
(A) Absolute maximum value O 3
(B)  Absolute minimum value am o
(C) Point of maxima am -5
(D) Point of minima av) 4

Choose the correct answer from the options given below :
1) @A) -av), B) - 1D, (C) - @), (D) - (IIT) (2) (A)-{D), (B) - ), (C) - (D), (D) - AV)
(3)  (A)-(1V), (B) - ), (C) - D), (D) - (1) 4 (A)-(1V), (B) - ), (C) - @), (D) - (D)
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319 EAS/B (3)

Section A (Compulsory)

1.  IM A B 7O AFSHN I ANN® (WeTF*F, (OB AB — BA X' JOT:
(1) SN q ASTN CNeTF6 2) ¥AT CNeTP
3) RT-Swie Ciass @) AP (VTP

2. M A G674 e I5f (N AF |A| = 4 TT, (OS 2A| I NN T

(1) 8 (2) 64 3) 16 4) 4
3. ﬂﬁ:—l [A]3x2 [B]Xxy = [C]3><1' (91 5

(1) x=1y=3 (2) x=2,y=1 (3) x=3,y=3 4 x=3,y=1

4. M) = x2 + bx + 1 TEANCO! [1, 2] WSIET® IF NN, (OCS b T W ¢

(1 5 2 0 ) -2 (4) -4

5. AUPEIS HOT A NEFH $1 241 I X-4 [FAHO! B[ (A1 K T SBI, (oS
X-4 AT R']:

M 3 @ O Ol

6. f(x)=2x3-9x2 + 12x =5, x € [0, 3] TN AN OINABI-1-F OIAPI-11-F (TS NI

SIfeTT1-1 SIfAI-11
(A) 2] AT W m 3
(B) IV AP AN a 0
©) S 7 a -5
(D) o 77 awv) 4

TeTo Al REFITIZINRT 3T TS0l AR F4T:
(1) (A)-AV), (B)- (D), (C)- (), (D) - () (2) (A)- (D), (B)- (D), (C) - (1), (D) - (IV)
(3) (A)-(IV), (B)- (I, (C)- (), D)- (D) (4) (A)- V), (B)- (1), (C) - (), (D) - (IN)
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319 EAS/B (4)

7.

10.

11.

An objective function Z = ax + by is maximum at points (8, 2) and (4, 6). [f a >0 and b > 0 and ab = 25,

then the maximum value of the function is equal to :
(1) 60 (2) 50

(3) 40 4) 80

The area of the region bounded by the lines x + 2y =12, x =2, x =6 and x-axis is :
(1) 34 squnits
(2) 20 sq units
(3) 24 squnits
(4) 16 sq units

A die is rolled thrice. What is the probability of getting a number greater than 4 in the first and the

second throw of dice and a number less than 4 in the third throw ?

ol . o 1 o L
()3 ()6 ()9 ()18

The corner points of the feasible region determined by
x+ty<8, 2x+y=>8, x>0, y>0

are A(0, 8), B(4, 0) and C(8, 0). If the objective function Z = ax + by has its maximum value on the line

segment AB, then the relation between a and b is :

(1) 8a+4=b (2) a=2b

(3) b=2a (4) 8b+4=a
2
d

If t=¢* and y= log, t2, then —z is:
dx

(1) 0 ) 4t

4¢*! 2 4t-1)
3 — 4 ———

SPACE FOR ROUGH WORK



319 EAS/B (5)

7.

10.

11.

Z = ax + by WO FANOR VN IARFZT (@G, 2) WFE 4, 6) (7@l I
a> 0 b>0 P ab = 25T, (O[S FANCGR AAEF N 7'
(1) 60 (2) 50

(3) 40 4) 80

x+2y:12,x:2,x:6@WWX—WWW%mWQTW?W
(1) 343 FF
@) 2035 9B
3) 243 FF
@) 163X gFB

6T PG SRR NEFHN F 2| AAN AT FoIT [NEFATO 4©(F TG <
DO [NEFHTS 400F JP ST 46T (N STSIfqor fFure ?

ol . o 1 o L
()3 ()6 ()9 ()18

X +y<8 2x+y=>=8 x20 vy > 09F%dA NI AGA FHgINS §P dl
(PIVILIR A A0, 8), B4, 0) W C(8, 0)| M Z = ax + by NGl HeI~(OIS
SAAE N AB (FUAYS B0 2T, (OB a WF b I NGF T4F 7

(1) 8a+4=b (2) a=2b

(3) b=2a (4) 8b+4=a

2
d

Mt = e Wy = log, t° T, (B — XX
dx

(1 o (2) 4t

4¢>! 24t -1)
t @ ——

3)
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T
12. j— dx =
n+l
X — X

T xn -1 Xn +1
(1) I log,, — t C (2) log, -
X x —1
T Xn +1 n
3) H log, - + C 4) mlog,
X x —1
1
afbx2
13. The value of —2dx 1S :
0 a—i—bx2
n — @ —
( a+b : a-b
; a+b 4 1
® 2 @ a+b

14.  The second order derivative of which of the following functions is 5* ?

(1) 5%log, 5 (2) 5% (log, 5)°
3) i “4) >
2
log, 3 (log, 5)
3/2
. . . dy \’ dy
15. The degree of the differential equation | 1 - — = k—2 is:
dx dx
(H 1 2 2
3 3 @ 2
2
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319 EAS/B

12.

13.

14.

15.

T
j—dx=
n+l
X — X

n
T x —1
(1) Py log, " +C
X
T Xn +1
3) 0 log, K + C

a—-b 2

2
a+ bx

S e —
—_

-b
a+b

[

(1

a+b
2

3)

——ax IR R

(7)

(2) log, - + C
x —1
n
(4) mloge |— +C
x —1
(2) 1
a—b
“4) :
a+b

©T® A (PTNCOT TS [FOr NGl I PN WP 5X ?

(1) 5*log,5

X

3
@ loge 5

3/2

2) 5% (log, 5)?

X

5

@ —
(log, 5)°

2
1_(?)2 :kd—i WP STNFINON Tro 1 fOM (=7 :
X dx

(1 1

3) 3

Q) 2

@ 3
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319 EAS/B (8)
Section B1 (Mathematics)

16. Let R be the relation over the set A of all straight lines in a plane such that /; R /, < /s parallel to /,.

Then R is :
(1) Symmetric (2) An Equivalence relation
(3) Transitive (4) Reflexive

17.  The probability of not getting 53 Tuesdays in a leap year is :

1y 2/7 2 1/7 3) 0 4) 5/7

18. The angle between two lines whose direction ratios are propotional to 1, 1, —2 and
W3-D, B-1), —4 s
(1) =/3 2) = 3) n/6 4) w2

= - — -
19. If (a—b):(a+b) =27 and|a |=2|b |, then|b |is:
(1 3 2 2 (3) 5/6 4) o6

=cot™!
37541 3+

20. If tan’!

, then which one of the following is true ?

(1) There is no real value of x satisfying the above equation.
(2) There is one positive and one negative real value of x satisfying the above equation.
(3) There are two real positive values of x satisfying the above equation.

(4) There are two real negative values of x satisfying the above equation.

1 4 3b 5
21. If A, B and C are three singular matrices given by A = |:3 5 j|, B = |: } and
a

atb+c c+l1
C= , then the value of abc is :
a+c c
(1) 15 (2) 30
(3) 45 4 90

SPACE FOR ROUGH WORK



319 EAS/B (9)

16.

17.

18.

19.

20.

21.

43 B1 (S1fTo)

9 T (FICAT QYN ANOABO HAFCA AT (U AZS A-© R g0 AR AT
TS 14 R I, & 1, TSI T [,-F | (OfST R T:

(1) e 2) AF NGOl STH,

(3) SIS ) AfSTANT

6T WG 1 fF79V-30T9@ 53 BT NEF (NN TSIFoT (=R

1y 2/7 @) 1/7 3) 0 @) 5/7

MO ({41 I o Mgoe 1, 1, - 2 W (3-1), B -1), -4 I TNASSH, SEeq
WG (PITEIRI
(1) /3 2) = (3) n/6 4) n/2

W (a-b)- (a+b) = 27 WF |a | = 2|b [TT, (OB |b | X

(1 3 2) 2 (3) 5/6 4) 6
I tan™] ( ] = cot™! { 3 } (OlS OeT® T (PO 6T ?
341 34

(1) SN STNFIVET ST FIF AR * I (PN IS N N3

2) OHNIF STNFIVCT TN BT AP £ I GOl NG HF 6T ANGF B
DALY (4]
3) QNI STRIFIVOT ST FIT AR ¥ I FOI ABI NS NN G|

@) SHIF STNFIVO! TN HRT ARME * I {OT IBF AN NN AR |

o _ 1 4 3b 5
TM A, B W C fSN0I AT 1 Q5] Gl T TF A = L , } B = { 2}
a a

a+b+c c+1

W C = { } 7] JCOTHT (R(Y, (OB abc NN 2']:

atc C

(1) 15 2) 30 (3) 45 @) 90
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319 EAS/B (10)

log 3 e2X

22. The value of the integral j dx is:
loge 2 ezx +1
(1) log.3 (2) log.4 — log,3
(3) log,9 — log. 4 (4) log,3 — log,2

> o - - > o - - — .
23. If a, b and ¢ are three vectors such that a + b + ¢ = 0, where a and b are unit vectors and

- - - .
| ¢ | =2, then the angle between the vectors b and ¢ is:

(1) 60° (2) 90°
3) 120° (4) 180°
24. Let [x] denote the greatest integer function. Then match List-I with List-II :
List-1 List-11

(A |x=1]+x-2 (I)  is differentiable everywhere except at x =0

B) x—[x (II) is continuous everywhere
© x—-[x] (IIT) is not differentiable at x = 1
(D) xIx| (IV) is differentiable at x = 1

Choose the correct answer from the options given below :
1 (A)- @, B)- D, (C) - (1), (D) - (IV)
2) (A)-D, (B) -, (C) - 1), (D) - AV)
3 (A)- (D, (B) - D), (C) - (IIT), (D) - (IV)
@ (A)- (D, (B) - (1V), (C) - (D), (D) - ()

25. The rate of change (in cm?/s) of the total surface area of a hemisphere with respect to radius

ratr= 3 1.331cmis:

(1) 66m 2) 6.6n (3) 3.3n 4) 4.4n

26. The area of the region bounded by the lines + % =4,x=0andy=0is:

73 a
(1) 56/3ab ) 56a (3) ab/2 (4) 3ab

27. If A is a square matrix and I is an identity matrix such that A2 = A, then A(I - 2A)3 +2A3 is equal to :
() T+A (2) 1+2A 3) I-A 4 A

SPACE FOR ROUGH WORK



319 EAS/B (11)

22,

23.

24.

25.

26.

27.

log 3 e2X
I dx NP 1 TP (BT N 2
2xX
logez (§] + 1

(1) log,3 (2) log.4 — log,3 (3) log,9 — log, 4 (4) log,3 — log,2

I 2, b WE OO (CFI T, MO a +b+c =0 IO a WE b (AR JFF
(CRIIF |¢ | = 2, (OB (ORI b WF ¢ I WGK (FIVOR NN ]
1) 60° 2) 90° 3) 120° 4) 180°

491 R, ROV WYY eI (AR 5], (oS SIfeTFT-1-5 SIfe1asl- 11-3 (570w |

SIfFAPII G EIA

A k-1+x-2 |0 x=0™® IRF TS TIFANNT|

(B) x| 1)  SAIANIYLe VIR |
©) x-I[x] 1) x = 1 R® PN =
(D) x|x| V) x = 1 fI® ST~ |

Ot Al REGITNZINRT SASF TeIo! AR FRAT
(1 (A)- @, B)-dD), (C) - (1), (D) - (IV)
(2) A)-@),[B)-dID), (C) - (D), (D) - IV)
(3) (A)-1D), (B) - (@), (C) - 1), (D) - (IV)
4) (A)-dD, (B)-(1V),(C) - 1), (D) - (D)

r = 3/1331cm RS ¢ TG STCNTF J6T TLNTRI TS “PFIE ARSI =9

(cm2/s §FF©) '] :
(1) 66n (2) 6.6n (3) 3.3m (4) 4.4n

. LS % =4, x = 0 WP y = 0([FAMHFIOEAIZIRT WTF WA CFaH I JIfe T
3a

(1) 56~/3ab 2) 56a (3) ab2 (4) 3ab

M A GO I (WA W | G561 W(oR AT dHF (NAdF T TTAZ = A, (Ol
Al - 2A)3 + 2A3I TN 2]
(1) 1+A ) 1+2A (3) 1-A @) A

SPACE FOR ROUGH WORK
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28.

29.

30.

Match List-I with List-I1I :

List-1 List-11
(A)  Integrating factor of xdy — (y + 2x%)dx =0 D %
(B)  Integrating factor of (Zx2 —3y)dx = xdy (D) X
(C)  Integrating factor of 2y + 3x2)dx + xdy=0 |(I) x2
(D) Integrating factor of 2xdy + (3x3 +2y)dx=0 av)y i3
Choose the correct answer from the options given below :
(1) (A)- (@, (B) - (), (C) - (IV), (D) - (II)
2) (A)- D, (B)-1V),(C) - (D), (D) - (IT)
(3) (A)-D, (B) - (@), (C) - (1), (D) - (IV)
(4) (A)- (1), (B) - AV), (C) - (ID), (D) - (1)

n-1, if nis even

If the function f : N — N is defined as f(n) = {n i £ s odd then
(A) fisinjective (B) fisinto
(C) fis surjective (D) fis invertible

Choose the correct answer from the options given below :
(1) (B) only

(2) (A), (B)and (D) only

(3) (A)and (C) only

(4) (A), (C)and (D) only

T

2 1—cotx
7 ix=
o ©COSeC X +cos X

1) 0 @ 5
(3) o @

SPACE FOR ROUGH WORK




319 EAS/B (13)

28.  OIfABI-1-F SIfAPT-11-F ¢ NI
SIfFAPII G EIA

(A)  xdy— (y+2x))dx = 0 TP AYFAN QM |(D)

| —

>

B)  (2x2-3y)dx = xdy TN Qe pe BVF (11)
©)  (Q2y+3xHdx+xdy=0 FNFIR JAFAN (MR (D) 2
D) 2xdy + (3x3 +2y)dx =0 FNFIR HAFAN QM (V) X3
(1) (A)- @, B)- ), (C) - AV), (D) - dD)
2) (A)-@,®B)-1AV),(C) - ), (D) - (I)
(3) (A)-1D), (B)- 1), (C) - ), (D) - (IV)
4) (A)- ), (B) - AV), (C) - (D), (D) - (D)

o

n—1, Mo YN
29. M f: N - N FEANOIF f(n) = REITY Ssarqg 2, (90D
n+1a ﬂﬁnwsﬂ
(A) 0B T (B) f (XY ARV
©) f(R(R ATRMP (D) =[] ARSI
TeTe ol FREFTIZINRT Af5F TS0 AR F -
(1) (R (B)
) (P (A), (B) A< (D)
(3) (P (A) AP (C)
@) (P (A), (C) =F (D)
2 1-cotx _
30. _[0 cosecx+cosxdx_
T
(1) 0 @ 7
Y
(3) o @

SPACE FOR ROUGH WORK



319 EAS/B (14)

31. Ifthe random variable X has the following distribution :

X 0 1 2 otherwise
PX)| k 2k | 3k 0
Match List-I with List-I1I :
List-I List-11
5
(A) k m =
4
(B) P(X<2) am 3
©  EX) a
1
(D) P(1=<X<K2 av) 3

Choose the correct answer from the options given below :
() (A)-@, B)- I, (C) - (1), (D) - (IV)
(2) (A)-(AV), (B) - (D), (C) - (ID), (D) - (1)
(3) (A)- (@, (B)- (I, (C) - (IV), (D) - (1)
(4) (A)- ), (B) - (IV), (C) - (D), (D) - (II)

32. For asquare matrix A,
(A) Jadj Al = A"
(B) |A|= fadj A"
(C) Aladj A) = A

1 1

® = o

Choose the correct answer from the options given below :
(1) (B) and (D) only

(2) (A)and (D) only

(3) (A), (C)and (D) only

(4) (B), (C) and (D) only

SPACE FOR ROUGH WORK
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31, W IR Bel X-9 MR [ A
X 0 1 2 TLT

PX)| k | 2k | 3k 0
OIfeRI-1 B OIfepI-11 I (0o N1
R IGEIA O GEIM

(A) & 2

4

B) P(X<2) m 3

©  EX) () %

(D) P(1<X<2) Iv) %

ST Tl RETTIRF 21 A5 GeIo! AR~ FIBe
(1 (A)- @), B)- 1D, (C) - 1), (D) - IV)
(2) (A)-1V),(B)-I), (C) - D), (D) - (D)
(3) (A)- (@, B) -, (C)-AV), (D) - (I1I)
4) (A)- (D), (B) - (IV), (C) - (), (D) - (1I)

32. 61 I (NP A Apen
(A) |adj A] = (A"

(B) |A|=|adj A"
(C) A(adj A) = |A|

D) [al]= —

(D) |A™| N

Tt ATl REFITII A1 Af5F TeIo! IR FIB8

(1) (B) OU<E (D) (e 2) (A) S (D) (e
3) (A), (C) =< (D) (FI 4) (B), (C) < (D) (P

SPACE FOR ROUGH WORK
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1 0 O
33. Thematrix |0 1 Ofisa:
0 0 1
(A) scalar matrix (B) diagonal matrix
(C) skew-symmetric matix (D) symmetric matrix
Choose the correct answer from the options given below :
(1) (A), (B)and (D) only (2) (A), (B) and (C) only
(3) (A), (B), (C) and (D) (4) (B), (C) and (D) only
34. The feasible region represented by the constraints 4x +y =80, x + 5y > 115, 3x +2y <150, x,y=0 of
an LPP is
y
4
9(\\
\ (0,80)
(0,75)
70 :
60
50
40
307
(().23)2\01
10
2 NN (115,0)
(’ " Y " " 4 x
10 20\ 30 40 50\()() 70 80 90 100 110 20—
0.0 (20,0) (50.0)
(1) Region A (2) Region B (3) Region C (4) Region D

35. The area of the region enclosed between the curves 4x2= yandy=4is:

(1) 16 sq. units 2) % sq. units
3) %sq. units @) % sq. units
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33.

34.

3s.

1 0O O
OIAdS [0 1 0 | (R J0T
0 O 1
A) (B (AT ®) TP CieTs
©) RITN-SNiNfe CNass (D) ANNR®
weTo A [RFFTIZRI -1 A3F TS0 AR FIF3
(1) (A), (B) < (D) (FJeT @) (A), (B) T (C) (FIeT
3) (A), (B), (C) SI<E (D) 4) (B), (C) ™I<E (D) (P

4BT LPP- SINIR@® 4x + y > 80, x + 5y = 115, 3x + 2y < 150, x, y > 0-9 Q{1 AfoAy
I TSI WP % A

9(\\
\
(0,75)
70
60
50
40t
l().?3)$‘1
10

1z

10 20
0.0  (20,0)

(1) =P A (2) =BT B (3) WP C 4) WP D
4%° = y TP y = 4 IS NGO WG WAF (hapel R o
(1) 16 I5f GFFIYZ 2) % 35 IFFTYR
3) %as‘f JFFAYZ @) %a’s‘f JFFTYZ
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2x+1
36. x dx =
[ ()
1
1
(1) i
2) —e*/x+C

1
3) —
) e

4) *vx+C

e+ C

eX+C

kx+1 if x<=n

37. Iff(x), defined by f(x) = is continuous at X = 7, then the value of k is :
cosx if x>n

(1 0 Q) =
3) % (4) f%

-1
38. IfP=| 2|andQ=[2 -4 1] aretwo matrices, then (PQ)” will be :

4 5 7 (2 4 2
a |-3 -3 o @ | 4 -8 -4

0 -3 - 121

s 5 2 2 4 3
3 |7 6 7 @ | 7 s

9 -7 0 8 -2 6
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36. ex(zx-’_ljdx =
24/x

37.

38.

1 X+ C
(1) 2\/26
2) —e*/x+C
1
3) - X4 C
(3) 2\/26
4) *vx+C
kx+1 IM x<x
ﬂﬁf(x):{
CoS X ﬂ'ﬁ:_(x>n
(1 0 Q) =
2 2
G = @ -
-1
IUP=| 2|[WME Q=2 -4 1901 (NS5 =T | (SfoT (PQY'RT
1
4 5 7 2 4 2
M |-3 -3 o0 @ | 4 -8 -4
0o -3 -2 -1 2 1
5 2
(3) 6 4) 7
— -7 -8 —

(19)

1

IR R RCI RIS f(x), X = n,-9© W0 X, (OS k-9 W '3
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1 cosX 1
39. A=|-cosx 1 cosX
-1 —CcOoSsX 1
(A) A=2(1-cos? x) (B) A=2(2-sin?x)
(C) Minimum value of A is 2 (D) Maximum value of A is 4

Choose the correct answer from the options given below :
(1) (A), (C)and (D) only (2) (A), (B) and (C) only
(3) (A), (B), (C) and (D) (4) (B), (C) and (D) only

40. f(x)=sinx—+ % cos 2x in |:0, %}

(A) f’(x)=cos x —sin 2x

B) The critical points of the function are x = i and x = T
( P 6 2

(C) The minimum value of the function is 2

(D) The maximum value of the function is %

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A), (B)and (C) only
(3) (A), (B), (C) and (D)
(4) (B), (C) and (D) only

41. The direction cosines of the line which is perpendicular to the lines with direction ratios 1, — 2, — 2 and

0,2, 1are:
2 1 2 2 1 2
M) Z.-3.3 @ 533
2 1 2 2 1 2
(3) 3,73773 (4) 3’ 3,3
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39.

40.

41.

1 CcOSX 1

A = |—-cosx 1 CcosSX

-1 —COSX 1
(A) A=2(1 - cos? x) (B) A=2(2—sin?x)
(€) AT YO N T2 (D) A STAEH N T 4
Ot ATl REFITII 21 A5 TeIo! IR FIBe
() (A), (C) AT (D) (P 2) (A), (B) ATk (C) (R
(3) (A), (B), (C) ™I+ (D) (4) (B), (C) AT (D) (PeT

T & o 1
[0, 5}\9 f(x) = sinx + 5 €Os 2X

(A) f’(x)=cos x —sin 2x

(B) TN TS RATIARR T x= T WF x= 7

(C) TE(OE YO NN T 2
D) wm‘rf%m?a'a%

TeTo WA RFFTIZI -1 A3F TS0 AR FIF3
(1) (A), (B) T (D) (T @ (A), (B) T (C) (T

(3) (A), (B), (C) &I (D) 4) (B), (C) A< (D) (R

1,-2, -2 W 0, 2, 1 ¥ HYATOF (0@ (IUR] TF *] (FHMENQR R '

2 1 2 2 1 2
M) 5= 303 @ -5-5 5

2 2 2 1
3 3 (4) 3’3,

W o

ONER
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42. Let X denote the number of hours you play during a randomly selected day. The probability that X can take

values x has the following form, where ¢ is some constant.

0.1 , ifx=0

cX , ifx=lorx=2
PX=x)= c(5-x), ifx=3orx=4

0 , otherwise

Match List-I with List-1I :

List-I List-11
(A) ¢ I 075
(B) P(X<2) (I 03

(C) P(X=2) )  0.55

(D) P(X>2) Iv) 0.15

Choose the correct answer from the options given below :
(1 @A) - @), (B)- 1D, (C) - (1), (D) - AV) (2) (A)-(1V),(B)- ), (C) - dD), (D) - (1)
3) @A) -D, B)- 1D, (C) - AV), (D) - (IIT) “ (A)- (), (B) - AV), (O) - (@), (D) - (D)

d
43. 1If siny=xsin (a+y), then d—y is :
X

sin? a sin(a+y)
D Sh@+y @ — 7,
sin(a + y) sin?(a+y)
3) sin a ) sina

. . - o - o -
44. The unit vector perpendicular to each of the vectors a + b and a — b, where a =

N A A A
b=1+2j+3k, is:

1 » 2 4 1 7 1 7 1 % 1 7

1 _1 4+ = +_k 2 —_1 + — _k
() \/g] \/EJ \/g () \/g] \/EJ \/g

17 2N 2 N 1% 20 1A

3 —_— 1 + = +_k 4 — 1 + = _k
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2. 4 28F (T X 01 RPN REe Tae W= (& O[S4 oI
X-3, x W™ A7 AN AGRVK OO [T [AACOI WY, T [Fg [ZF1

0.1 , S[ﬁ:—(x:O
cX , ﬂfl:_(leaTXZZ

PX=0= c(5-x), YMx=337 x=4
0 ) NIAT
OIfAPT-1 F OIfABI-1TF (50O VAR |
SIfeTSI-1 SIfeidI-n
NI I 075
(B) P(X<2) a 03

(C) P(X=2) I  0.55

D) P(X22) [1V) 0.15
ST Tl RFTTNRF 21 Af5F GeIo! AR~ FIBe

(1) (@A) - @, B)- D), (C) - 1), (D) - (IV) (2) (A)-(@1V),(B)- (D), (C) - D), (D) - (D)
(3) A)- @, ®B)-1D, (C)-dAV), (D) - (D) @) (A)- D), (B) - (IV), (C) - (D, (D) - (1)

43. W siny = xsin (a +y), (S gx—y R 8

in2a sin(a +y)

D @y @ =5
sin(a +y) sin? (a+y)
G —wna @ na

el - =l —> LN o LN AN - A A
44. a +b[P a — b (UPIF AISOCOIF A Y JIFP (I I 9 a =i + | + kAP
B)Z?‘FZJ +3k T
1 27 1A Py 1 1n
1 —i+—=j+—F7—=k 2) ——F—i+—F—j - ——=k
Vo Voo e NN N
1A 2 N 2 A 1A 24 1 A
3) ——fi+—F—=j+—F—=k 4 ——F—=i+—F—=j-—Fk
Vo 6o e NN
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N A A A A A A
45. The distance between the lines r = i—2j +3k +A2i+3j+6k)and
N A A A A A A
r =31 -2j+1lk+pu@i+6j+12k)is:

V28 199 328 421
7

(1) @) = () 5 4) =

46. If f(x)=2 (tan_l (eX)_%) , then (x) is :

(1) even and is strictly increasing in (0, o)
(2) even and is strictly decreasing in (0, o)
(3) odd and is strictly increasing in (— oo, o)

(4) odd and is strictly decreasing in (— oo, o)

47. For the differential equation (x log, x)dy = (log, x —y)dx
(A) Degree of the given differential equation is 1.
(B) Itis a homogeneous differential equation.
(C) Solution is 2y log, x + A = (log, x)z, where A is an arbitrary constant
(D) Solution is 2y log, x + A = log, (log, X), where A is an arbitrary constant
Choose the correct answer from the options given below :
(1) (A)and (C) only (2) (A), (B)and (C) only
(3) (A), (B)and (D) only (4) (A) and (D) only
48. There are two bags. Bag-1 contains 4 white and 6 black balls and Bag-2 contains 5 white and 5 black balls.

A die is rolled, if it shows a number divisible by 3, a ball is drawn from Bag-1, else a ball is drawn from

Bag-2. If the ball drawn is not black in colour, the probability that it was not drawn from Bag-2 is :

4 3 2 4
M 3 @ 3 3 3 @ T
49. Which of the following cannot be the direction ratios of the straight line X ; 3_2 ; Y = Z_+14 ?
1 2,-3,-1 ) -2,3,1
(3) 2:35_1 (4) 69_97_3
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45.

46.

47.

48.

49.

RN

= 7-27 +3k + 227+ 3]+ 6k)SE
=37 -2 + 1k+u@di+6]+12k) (I4F VG 77 (T
V28 V199 V328 01

1 —== 2) —— G —— 4 —

r
%
T

M i(x) = 2 (tan—1 (eﬂ—%)’iﬂ, (OB f(x) T

(1) TN S PRI I3 (R TR (0, )
2) YN A FIROIL I (X MR (0, )
(3) YN S FIROIE @ (X WG (- o, )
4) YN TP FLIROIL JT (X TG (— oo, o)

WIHFE TP (x loge X)dy = (Ioge x — y)dx -F A

(A) MG TIFA STNFIR FO T ' 1

(B) 2 IF TSI NIFA TNV |

(C) STV A 2y log, x + A = (log, x)> T'© A S0 (TR 7 |

(D) STV X' 2y log, x + A = log, (log, x) 9 A ST (TR <75 |
TeTe M REFITII 291 Af3F TQIo1 IR T3

(1) (A) AP (C) (P (2) (A), (B) AT (C) (P
(3) (A), (B) AT (D) (<P 4 (A) NI (D) (P

TOT (]9 MR (-1 457 I S 6061 F'a1 6] AP AP (J57-29 561 57 AE 5061
I I AMCH| 0T A NCEFN F91 2, M R 39 71 [ROoy dor A4 (MYET,
@AN-1F AT 07 I g Y AN (I9-2F A 0T 6 G FQ1 | M G "F
JEICOT "1 8T V2T, (OB (IN-2F N G "NHINE ASR{N A

M 5 @) 3 2 @

[e2<J[#%)

S (PIACT 19T (IUF o Soe T (A 22 = 2.Y = 204

(1) 2,73a71 (2) 72,3,1 (3) 253’71 (4) 6a79a73
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50. Which one of the following represents the correct feasible region determined by the following constraints
of an LPP ?

x+y=>10, 2x+2y <25, x20, y=0
y

4

(1) 4 X
y
(2) < $< X

<
y

(3) %‘(
X
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50. ©eI9 (PG LPP-¥ fARfEde SNz 7« {fe 0T T8I WpaF
:’:’jﬁ)lﬁlﬂ? PI?
x+y210, 2x+2y <25, x>0, y>0
v

(D X
y
N\
2) . A
(2) e
v
Yy
3) X
y
A
N\

SPACE FOR ROUGH WORK
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51.

52.

53.

54.

5S.

56.

Section B2 (Applied Mathematics)
The least non-negative remainder when 3° lis divided by 7 is:

(1 2 2 3 (3) 6 4 5

it 5x+8 7 2 3y+l o 1
+ 12| + :
y+3 10x+12 5 0 , then the value ot 5x + 3y 1s equal to

(1 -1 2) 8 3) 2 4) 0

There are 6 cards numbered 1 to 6, one number on one card. Two cards are drawn at random without

replacement. Let X denote the sum of the numbers on the two cards drawn. Then P(X > 3) is :

am 12 @ =
G 1 @ 35

Which of the following are components of a time series ?

(A) Irregular component (B) Cyclical component
(C) Chronological Component (D) Trend Component
Choose the correct answer from the options given below :

(1) (A), (B)and (D) only (2) (A), (B) and (C) only
(3) (A), (B), (C)and (D) (4) (B), (C) and (D) only

The following data is from a simple random sample :
15,23, x,37, 19, 32
If the point estimate of the population mean is 23, then the value of x is :

(1) 12 2) 30 3) 21 4) 24

For an investment, if the nominal rate of interest is 10% compounded half yearly, then the effective rate of

interest 1s :
(1) 10.25% 2) 11.25%
(3) 10.125% (4) 11.025%
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Y B2 (AT s1fTo)
51. 351 7 (3 OI9 BIRCA HOI2OLH N N-YNG[PF WIHT = 'J
1 2 @ 3 3) 6 4 5

5x+8 7 |2 3y+l ,
52. iﬁ[yH mxﬂz}_[s . }m,c—c—w 5x + 3y - W« ®J

(1 -1 2 8 3 2 4 0

53. 1 *IQI 6 VI 601 I WY, BT FNGS 61 VI AR | AN VFINF TRF I
0T PG (-1 =T | X-d (1T FOT PGS SLYTF (TR (R | (SfST P(X > 3) T

am 12 @ =

G 1 @ 13

54. O] (PINCGI AN * L] SATHIN?

(A) NI Tomg* (B) HapT BT

(C) FIATYLRINIP BT (D) (S TATLA

TeTe M REFITII 291 Af3F TQIo1 IR FIF3

(1) (A), (B) TP (D) (R (2) (A), (B) AT¥ (C) (PLeT
(3) (A), (B), (C) ™I+ (D) 4) (B), (C) A< (D) (PLeT

55.  OeTw M OIS 401 el IGIRP NYNF AT (=1 (R(R:
15,23, %, 37, 19, 32
T TSI NG T TN 23 TF, (B x- I NN X J
1) 12 ) 30 3) 21 &) 24

56. 6T RINTII9T AR I AINNT To7 I WLARXS 10 *@1* ([ =T, (OrS o
FI(H TR T
(1) 10.25% @) 11.25%
(3) 10.125% @) 11.025%
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57.

58.

59.

60.

61.

62.

A mixture contains apple juice and water in the ratio 10 : x. When 36 litres of the mixture and 9 litres of

water are mixed, the ratio of apple juice and water becomes 5 : 4. The value of X is :

(1) 4 (2) 44 3) 5 4 8

1 0
For I = |:0 1:| , if Xand Y are square matrices of order 2 such that XY = X and YX =Y, then

(Y2 +2Y) equalsto:
(1) 2Y 2) 1+3X (3) I+3Y 4 3Y

A coin is tossed K times. If the probability of getting 3 heads is equal to the probability of getting 7 heads,
then the probability of getting 8 tails is :

> 45 _45 210
M 353 (2) 2 G Toa 4) 2!

If 95% confidence interval for the population mean was reported to be 160 to 170 and & = 25, then size of

the sample used in this study is :

(Given ZO.025 = 196)
(1) 96 2) 125 (3) 54 4) 81

Two pipes A and B together can fill a tank in 40 minutes. Pipe A is twice as fast as pipe B. Pipe A alone
can fill the tank in :

(1) 1 hour (2) 2 hours
(3) 80 minutes (4) 20 minutes

An even number is the determinant of

1 -1 13 -1 16 -1 6 -12
(A) (B) © (D)
-1 5 -1 15 -11 15 115

Choose the correct answer from the options given below
(1) (A), (B) and (D) only
(2) (A), (B) and (C) only
(3) (A),(B),(C)and (D)
(4) (B), (C) and (D) only
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57.

58.

59.

60.

61.

62.

6T TTHAT I W AT FNHTS 10 : x WYATo® AH | (IS 36 FOR {32 <6
9 fABR ANl =T T 3T, (SFoT TAMHAT I WFE AT WYAS 5:4 (2
RIS CHIPERIEEGE

(1) 4 (2) 44 3) 5 4 8

1 0
| = L l]aw,aﬁxwvmz-aa?fmfﬁasmm—wxv:xwasvx:v, RVIETH

(Y2 + 2Y)S NN R']
(1) 2Y (2) 1+3X (3) 1+3Y 4) 3Y
SBT Y&T K 1< OR 91 2T | M 3 BI Y] (AR TSR 7 BT Y (AR ASRAS ST
2T, (OB 8 BT (NG (AR TS e
5 45 45 210

M 53 @ 5 ® Toas @ 3

[N G YR 51GR MR 95 *NO1* WA IKLW 1609 A 170 W ¢ = 25 Jfed
(IR C2MRE, (OS2 TLTANO IO VAN H[HF AL

(1) 96 (2) 125 (3) 54 4) 81

0T IR A WP B A5 40 NGO BT (GsF R BT A AR A N B -
OLF BB B0 | (FI ATRHN A (T (BIFYN IV B[R AN -

(1) 190r® (2) 290N
3) 8o fNNGw @) 20 NNG®
45T o F 4T (R TS NIt

{ 1 —1} {13 —1} { 16 —1} |:6 —12}
(A) (B) © (D)

-1 5 -1 15 -11 15 11 15
SeTo Al REFITIZI - 3T TS0 AR FIF3

(1) (A), (B) I (D) (FeT ) (A), (B) &< (C) (_F

(3) (A), (B), (C) &I (D) 4) (B), (C) A< (D) (R
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63. Match List-I with List-ITI :
List-I List-11
Function Derivative w.r.t. x
SX
A ) 5%log, 5)
(A) log, 5 D (loge 5)
(B) log.> I 5%log, 5
(C)  5%og.5 () - s*
(D) s* vy o

Choose the correct answer from the options given below :

(1 (A)- D, B) -1, (C) - (1), (D) - (IV)
) (A)- (D, (B)- (D), (C) - (IV), (D) - (IIT)

) (A)-@,®B) - ), (C) - D, (D) - (IV)
(4) (A)- (D), (B) - (IV), (C) - (D, (D) - (1))

64. A random variable X has the following probability distribution :
X 1 2 3 4 5 6 7
PX)| k 2k | 2k | 3k | K2 | 2k* | 7K +k
Match the options of List-I to List-11I :
List-1 List-11
A) k I ’
() OB
B) P(X<3 I >
< it
(B) P(X<3) 7o
© PX>2) (TIT) 0
(D) P2<X<7) ) 5

Choose the correct answer from the options given below :

(1) (A)- D, (B) - (D), (C) - (M), (D) - (IV)
() (A)- ), (B) - (IV), (C) - (I1), (D) - ()

2) (A)-D,®B)- 1), (C) - (D), (D) - (IV)
(4) (A)- (D), (B) - (IV), (C) - (D, (D) - (ID)
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63.

64.

SIfART-1 5 OIfFHI-11 I G0 (|
SIfFAPII G EIA
AN X ATCATH WJHO7
& I 5og,5)?
0g.5
(B) log.5 ) 5%log, 5
(C)  5¥log.5 (I 5%
D) s* Iv) o

SeTo A REFTIZI -1 A3F TS0 AR FIF3
(1) @A) - @, ®B) -1, (C) - 1), (D) - (IV) 2) (A)-D, (B)- D), (C) - 1), (D) - (IV)
(3) A)- @, ®B)-dD, (C)-dAV), (D) - (D) @) (A)- D), (B) - (IV), (C) - (D, (D) - (1)

JGI IMfRP 515 X-9 [NHEAR® T8RAT [Rog wgs

X 1 2 3 4 5 6 7
PX)| k 2k | 2k | 3k | k¥ | 2k? | E+k
SIfA1-1 I [RPFPTIR OIfdTH1-11 I (570 N[
OIGLIR] G E I
A k n o
(A) O 7
53
(B) P(X<3) ST
€) PX>2) (111 %
D) P2<X<7) Iv) %

Tt ATl REFITIR A1 Af5F TeIo! IR FI58
(1) (A)- (D, B)-dD), (C) - dII), (D) - (IV) (2) A)-@,(B)-dID), (C) - D), (D) - AV)
(3) (A)- (), (B) - (IV), (C) - (D), (D) - (1) 4 (A)- D), (B) - (AV), (C) - (D), (D) - (II)
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65.

66.

67.

68.

69.

For which one of the following purposes is CAGR (Compounded Annual Growth Rate) not used ?
(1) To calculate and communicate the average growth of a single investment

(2) To understand and analyse the donations received by a non-government organisation

(3) To demonstrate and compare the performance of investment advisors

(4) To compare the historical returns of stocks with a savings account

A flower vase costs T 36,000. With an annual depreciation of ¥ 2,000, its cost will be ¥ 6,000 in

years.

(1) 10 2) 15 3) 17 ) 6

Arun's speed of swimming in still water is 5 km/hr. He swims between two points in a river and returns
back to the same starting point. He took 20 minutes more to cover the distance upstream than downstream.

If the speed of the stream is 2 km/hr, then the distance between the two points is :
(1) 3km (2) 1.5km 3) 1.75km (4) 1km

If ¥ = x*, then which of the following is true ?

(1) in_;/:l
(2) i—§y=0
(4) yji—;/_j—zﬂ—o

The probability of a shooter hitting a target is 3/4. How many minimum number of times must he fire so
that the probability of hitting the target at least once is more than 90% ?

(M 1 2 2
G3) 3 4) 4
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65.

66.

67.

68.

69.

B (FINCGT BN A CAGR ((TNF ANE IMa1 TR) IR F9 N=T?
(1) a5 RN NG Ja VTN S IS BT

2) 45T (IEIFIN ALFIR TT© FI WgRNTNZ IO (AT A {2 1
3) RN 2RI Mroseas 2N S G- F1

4) I IO MO OO ABY JIFNG0F 9T HRICHA

BT ISR e 36,000 GHT| 2,000 BHR ARNF YATZHR 0O, 2T I
JR99 6,000 G R ||

(1) 10 2) 15 3) 17 @) 6

WP [FF ATNS SRS SIS (=R 5 FEANE/011 (08 94~ FA® 761 RS
GTS QR SN A(H0! WIS [T YR WCZ| (S8 Trowig Nold BOI-S 1q
WMoV FF0eT 20 TNNE WGP AN (ARet | I I[RIOIR SR 2 [PCANGR/<01

2, (OB WO 799 o9 197 RS
(1) 3 fBAMNCR @) 1.5 BPENOR 3) 1.75 [BPEAMNOR (4) 1 BB

M &Y = xX T, (O(S O (P! HEI?

1 y— =1
2 — -vy=0
3) — -—=0

) Y -0
Y d

AT "BAGTAR] TThT© W© HIIK SO 3/4 X1 TGO K{{ THIS WS
FIIR TBIANT 90 *TOL*TOLH WEP RAH (0 [FANAR BATOTANT HII ATNI?

(1 1 2) 2
3) 3 4 4
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70. Match List-I with List-I1 :
List-I List-11

(A) Distribution of a sample leads to becoming a normal distribution |(I)  Central Limit Theorem

(B)  Some subset of the entire population (I)  Hypothesis
(C) Population mean (IIT) Sample
(D)  Some assumptions about the population (IV) Parameter

Choose the correct answer from the options given below.

(1 (A)- D, B)- 1D, (C) - (1), (D) - (IV)
2) (A)- D, (B) -1, (C) - (IV), (D) - (IT)
(3) (A)- D, (B)- D), (C) - (IV), (D) - (IIT)

(4) (A)- ), (B) - AV), (C) - (D), (D) - (IT)

71. Ms. Sheela creates a fund of ¥ 1,00,000 for providing scholarships to needy children. The scholarship is
provided in the beginning of the year. This fund earns an interest of r % per annum. If the scholarship

amount is taken as ¥ 8,000, then r =

1
(1) 85%
2 816(V
2) 83%
3 817(V
@B) 8%

B 82y
@) 8%
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70. SIfFIFI-1 F SIfFAPI1-11 I (5te fNa]|

SIfeSI1 SIf3T-11
(A) 6T VYN [TO FoIfRF ROITS ARTS IR | (FRIT JN0 SNy
(B) TN STNIOR fFEA T2 1) g
(©) STNfEF MG NIy A 51T () YT
D) IR R N T (V) AT

weto M RBEPTIRT 91 15 TS0 IR 53
() (A)- (D, (B) - (D), (C) - (1), (D) - (IV)
(2) (A)- (@, (B)- ), (C) - (IV), (D) - (1)
) (A)- (D, (B)- (D), (C) - (IV), (D) - (IIT)

(4) (A)- (1), (B) - (IV), (C) - (D, (D) - (II)

71. QISR BT 1,00,000 TFR G 538 T wivw Hswerad G o= ;A |
JIFBOT T2 WRSVTS AW FM =W 2 NOT AfS IS r % I TS TAGH FR|
M IS AIFNUCET 8,000 BHT FREIH (7141 =7, (Sf T r =

1
(1) 8%

2) sy
(2) 83%

3 sly
(3) 8%

4 82
@) 8%
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72.

73.

74.

A person wants to invest an amount of ¥ 75,000. He has two options A and B yielding 8% and 9% return
respectively on the invested amount. He plans to invest at least ¥ 15,000 in Plan A and at least ¥ 25,000 in
Plan B. Also he wants that his investment in Plan A is less than or equal to his investment in Plan B. Which

of the following options describes the given LPP to maximize the return (where x and y are investments in

Plan A and Plan B respectively) ?

(D

3)

In a 700 m race, Amit reaches the finish point in 20 seconds and Rahul reaches in 25 seconds. Amit beats

maximize Z = 0.08x + 0.09y
x > 15000

y > 25000

X +y>75000

X<y

X, y>0

maximize Z = 0.08x + 0.09y
x > 15000

y >25000

x +y < 75000

X2y

X,y=>0

Rahul by a distance of :

(1
3)

120 m

140 m

(38)

2

“)

2
“)

maximize Z = 0.08x + 0.09y
x = 15000

y <25000

X +y>75000

X<y

X,y>0

maximize Z = 0.08x + 0.09y
x > 15000

y >25000

x +y < 75000

x<y

X,y=>0

150 m

100 m

For the given five values 12, 15, 18, 24, 36; the three-year moving averages are :

(1
3)

15, 25,21

15, 19, 26

2
“)

15,27, 19

15,19, 30
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72.

73.

74.

OO BT 75,000 BFT RN F[F [OMI| (987 8599 HoT [RFG AR ANF B
¥ RINTIS F9 AR 89S A 8 *O1e* HF 9 O™ 7w FI| (08 FCNS
15000 G A® RTINS IR ARSI IRR F FNS 25,000 GIF BO
RN IR ARIFN FRY | ARFF© 531,999 (08 [RENI (T AR[FGN A-©
o33 RN ARFgW B-© (983 RNGIIelE W I NN 2837 [NES
RFFRIRI (NGNS AR F LPP F FfE4F Mo AT I F(F ( IO x AF y
(2] BN AIFGN A W AITHFA B-W [{NCI9Y) 2

(1) Z=0.08x + 0.09y ITATHHIY <1 (2) Z=0.08x + 0.09y S(IEHHIY FHT
x > 15000 x > 15000
y > 25000 y < 25000
x +y > 75000 x +y > 75000
X<y X<y
X,y=>0 X,y>0

(3) Z=0.08x+0.09y M HIY F1 (4) Z=0.08x+0.09y NI T

x > 15000 x > 15000

y = 25000 y = 25000

x +y < 75000 x +y < 75000
X>y X<y
X,y20 X,y20

700 fBR (MI9® SRS 20 (QFSS WBY {77 TANNS T W IR0 25 (RPYS
TN | WO IREF B TGO IS S ?

(1) 120 NG ) 150 NG/
3) 140 TBR 4) 100 B/
o ~ATE61 W= MR 12,15,18, 24, 36; fof I8 Bt AT 16 7'A
(1) 15,25,21 ) 15,27, 19
(3) 15, 19,26 (4) 15,19,30
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75. A property dealer wishes to buy different houses given in the table below with some down payments and

balance in EMI for 25 years. Bank charges 6% per annum compounded monthly.

(1.005)°%° x 0.005

Given (1.005)300 - =0.0064
Property type Price of the property (in ¥) Down Payment (in ¥)
P 45,00,000 5,00,000
55,00,000 5,00,000
65,00,000 10,00,000
S 75,00,000 15,00,000

Match List-I with List-II :

List-I List-1I
Property Type EMI amount (in ¥)
A P O 25,600
B) Q () 38,400
© R (III) 32,000
D) S (IV) 35,200

Choose the correct answer from the options given below
(1) (A)- D, (B)-dI), (C) - (1), (D) - AV)
(2) (A)- D), (B)-dl), (C) - V), (D) - (IT)
(3) (A)- D), (B)-dI), (C) - AV), (D) - (IIT)

@ (A)- ), (B) - (IV), (C) - (D, (D) - (IN)
SPACE FOR ROUGH WORK
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75. GG TG [RTFO2 fFG TON (HTHD W (FIIABT 44 25 IRIS AT EMI TTo
O (G3eTe Ml RSN 79 &1 ${7 RO (I3 N AfS IR 6 *rore=y Wizt

6&@@ PARY |
' 300 \
{ﬁ%‘?ﬂ w7 (1.005)™" X 0,005 _ o.ooﬂ

(1.005)°%° —1

TSI AFT | THAGIAN (R ©) | ST A 45 3 ©)
P 45,00,000 5,00,000
55,00,000 5,00,000
R 65,00,000 10,00,000
S 75,00,000 15,00,000
SIfASI-1 F OIfFABI-11 I (30 11|
SIfAFI-1 SIfFT-11
g 499 EMI T I (R ©)
(A) P I 25,600
B) Q ) 38,400
© R (II1) 32,000
(D) S IV) 35,200

TeTo Al RFFITIZRI -1 A3F TS0 AR FIF3
1) @A) - D, B)- D, (C) - 1), (D) - (IV)
(2) (A)- (@, (B)-d1I), (C) - AV), (D) - (II)
(3) (A)- (@), (B)- D), (C) - AV), (D) - (1)
4) (A)- (D), (B) - IV), (C) - (D), (D) - (II)
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76.

77.

78.

79.

80.

81.

The corner points of the feasible region for an L.P.P. are (0, 10), (5, 5), (5, 15) and (0, 30). If the objective
function is Z = ax + By, a, B > 0, the condition on o and B so that maximum of Z occurs at corner points
(5,5)and (0, 20) is :

(1) a=5p (2) Sa=p8 3) a=3p (4) 4a=5B

The solution set of the inequality |3x| > |6 — 3x]| is :

(1) (oo, 1] @) [l
() (e DU, ) @ (oo —DU(1, )
0 -1 3x
If the matrix | 1 y =5 | is skew-symmetric , then the value of 5x —y is :
-6 5 0
(1) 12 2) 15 3) 10 4) 14

A company is selling a certain commodity ‘x’. The demand function for the commodity is linear.
The company can sell 2000 units when the price is ¥ 8 per unit and it can sell 3000 units when the price is

T 4 per unit . The Marginal revenue at x =5 is :
(1) ¥79.98 (2) T15.96
(3) T16.04 (4) ¥80.02

If the lengths of the three sides of a trapezium other than the base are 10 cm each, then the maximum area
of the trapezium is :

(1) 100 cm? @) 253 em?

3) 753 cm? @) 1003 cm?

Three defective bulbs are mixed with 8 good ones. If three bulbs are drawn one by one with

replacement, the probabilities of getting exactly 1 defective, more than 2 defective, no defective and more
than 1 defective respectively are :

27 576 243 512 27 243 576 512
(D) , , and 2) , , and

1331 1331 1331 1331 1331 1331 1331 1331

576 27 512 243 243 576 512 27
3) , , and 4 s s and

1331 1331 1331 1331 1331 1331 1331 1331
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76.

77.

78.

79.

80.

81.

GBI LPP-J JMd AVIANT WBeF (R [RMAR T (0, 10), (5, 5), (5, 15) NP
0, 30)] M IBS FTAN Z = ax + By, o, p > 0 TV, (OB« WF p-J 56 TF
, qIT® Z-3 SAES ST (5, 5) < (0, 20)-© =T |

(1) a=5B (2) Sa=p 3) a=3p (4) 4a=5B
ST [3X| > |6 — 3x|-F STV MO R e
(1) (e 1] 2) [1,%)
(3) (—eo, DU, ) @) (oo, =D U(=1,)
0 -1 3x
IMEEH| 1y -5 |OfE- TS 2T, (oS 5x -y INHZT
-6 5 0
1) 12 ) 15 (3) 10 4) 14

BT (FATRICT 461 RAE A '« [ F[ AR | WA IR 5IlRAR I ({5
(PN ATSTET 2ENHI TAT 8 BHT Z'TeT 2000 TG [P F{I 2MI =F
AfSTET TGO el 4 THT Z(A 3000 TG [Pl BRI AMI| x = 5- WG IG=
LG

(1) %79.98 (2) £15.96

(3) %16.04 (4) £80.02

M GV ARET 961 (BFHGENT fSREr T (i AfSTer 10 (RfBROR =W, (oS
(GoTfomms SIS G =7

(1) 100 cm? 2) 253 em?

3) 75\3 em? @) 1003 cm?

fSfNBI (W G 97© 861 oI g = T =¥ IM Jaf Ff{ GrFIR o
A (KT =T, (OB (N (ITN G 107, 201 OlF NGB, (HFICNT (T N2 AF 16010(P
@fgﬂs (T G (AT ASTINICIS =T

27 576 243 512 27 243 576 512
(1) ) , e — ) , , e —
1331 " 1331 1331 1331 1331 1331 1331 1331
576 27 512 243 243 576 512 27
(3) ) , e — 4) , , e ——
1331 1331 1331 1331 1331 1331 1331 1331
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82.

83.

84.

85.

er-[y e[ ]o ]3]

and AX = B, then the value of n will be :

(1 o ) 1

3) 2 (4) not defined
R

The equation of the tangent to the curve x2 + y2 =33 at the point (1, 4) is :

(1) x+8y-33=0 2) 12x+y-8=0

3) x+8y-12=0 4 x+12y-8=0

A random variable X has the following probability distribution :

X -2 -1 0 1 2

PX)| 02 | 01 | 03 | 02 | 02

The variance of X will be :
(1) 0.1 2) 1.42

3) 1.89 4) 2.54

A Multinational company creates a sinking fund by setting a sum of ¥ 12,000 annually for 10 years to pay
off a bond issue of T 72,000. If the fund accumulates at 5% per annum compound interest, then the surplus

after paying for bond is :
(Use (1.05)'0 ~ 1.6)
(1) %78,900 (2) %68,500

(3) 72,000 (4) T1,44,000
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2 4 n 8
82. ﬂﬁA{ },X:{},B:{ } € AX = B, (SfOFT n-F W '3

(1 o ) 1
3) 2 4) sl g 2

5 5
83. (1,4) VARG, 2 + y2 IFHOR M TNFIVON X '
(1) x+8y—-33=0 (2) 12x+y-8=0

3) x+8y—-12=0 4) x+12y-8=0

84. 01 AMORP 5eTp X-F RIS TR [Ro97 &R -

X -2 -1 0 1 2

PX)| 0.2 0.1 0.3 0.2 0.2

X I NLFT R :
1) 0.1 2) 1.42
(3) 1.89 (4) 2.54

85. 0T IQGINOF (FTANTNITT 72,000 HHR ST AT ARTNY HRICA 10 IS IR IR
12,000 BT fNERr (7 461 20 N Sy 31T 01 M AfGone 2fS 3209 5 *rore=
berqa STO NI B, (OIS IBT A AR FIF fHRo A (-1 Afo{e 27
(1.05)'% = 1.6 VIR FIF)

(1) 78,900 (2) 68,500

(3) %72,000 (4) % 1,44,000

SPACE FOR ROUGH WORK



319 EAS/B (46)
SPACE FOR ROUGH WORK



319 EAS/B (47)
SPACE FOR ROUGH WORK



319 EAS/B (48)

Read carefully the following instructions : ﬁzw GEGINRZINT Ao TEF -

8. No candidate will be allowed to leave the OMR Answer |3- (TN IR OMR B8 AfGeT et IR (IR
Sheet blank. If any OMR Answer Sheet is found blank, it MM (@A T8I AGH A (A T [T O
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